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Faults (L1)[AT,DT]: [0.0749984, 0.

EFaults (PS): [0.075077630, 3.9
Faults (PC): [0.075077630, 3.9
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Shot #: 3205, Param Tree: 72
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= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)
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E Condjtioned Data (DCPS), Limits: [-1.5000000, 1.5000Q00]
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time
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—Full Alction (DCPS),ILimit = 356.06000, Max.=14i’>8.5959, End \l/al. 1458.3486
-~ Action (idl), Max = 1458.40, End Val.= 1458 7
: Full Action (idl), Limit = 356.000, Max.=1458.65, End #/al. 1458.40
L Shot #: 3205, Param Tree: 72

—Fault Time: 1.3260729

: Faults (L1) [AT,DT]: [0.0749989, 0.0653687]

time

E_IDL, éircular, [-0.0b744793, 25.6051]

DCPS, Circular, [-0.0074479286, 25. 141]
IDL, Shaped [Displaced], [-0.00744#3, 25.0051]
DCPS, Shaped [Displaced], [-0.00§#479286, 25.005
Shot #: 3205, Param Tree: 72
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